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Aim

»Understand the main measurements specified in IFRS and the
IFRS for SMEs
» Historical cost
» Cost model
» Revaluation model
» Amortised cost model
» Fair value (a separate session this afternoon)
» Value in use and net realisable value (a separate session tomorrow)



Conceptual underpinnings

»Measurement is the process of determining monetary amounts at
which elements are recognised and carried (paragraph 4.54 of IASB
Conceptual Framework)

» To a large extent financial reports are based on estimates,
judgements and models rather than exact depictions

» The Conceptual Framework establishes the concepts that underlie those
estimates, judgements and models (paragraph 4.54 of IASB Conceptual
Framework)

» Objective/s of general purpose financial information; qualitative characteristics
» Cost constraint

» Conceptual Frameworks are weak on measurement: list
measurement conventions



Trying to develop measurement concepts
IASB thinking on when to prescribe which
measurement?

» Consideration of the objective of financial reporting, the qualitative
characteristics and the cost constraint is likely to result in different
measurement bases for different items (paragraph 6.3 of IASB exposure
Draft ED/2015/3 Conceptual Framework for Financial Reporting)

» The selection of a measurement (paragraph 6.35 of IASB Discussion
Paper DP/2013/1 A Review of the Conceptual Framework for Financial
Reporting)

» for a particular asset should depend on how that asset contributes to future cash
flows

» for a particular liability should depend on how the entity will settle or fulfil that liability

» the number of different measurements used should be the smallest number
necessary to provide relevant information



Trying to develop measurement concepts
IPSASB thinking on when to prescribe which
measurement?

» The objective of measurement is to select those measurement bases
that most fairly reflect the cost of services, operational capacity and
financial capacity of the entity in a manner that is useful in holding
the entity to account, and for decision making purposes (paragraph
7.2 of IPSASB Conceptual Framework)

» It IS not possible to identify a single measurement basis that best meets the
measurement objective (paragraph 7.5)

» measures that are observable in a market are likely to be more
understandable and verifiable; and may be more faithfully representative of
the phenomena they are measuring (paragraph 7.10

» in principle, market values provide useful information because they fairly
reflect the value of the asset; market value is particularly appropriate when
the asset is held for sale but may not be useful for specialised operational
assets (paragraphs 7.25 and 7.26)



Many measurements

Historical cost

Modified historical cost (the cost model)
Market/Fair value (the fair value model)
Modified fair value (the revaluation model)

Value in use of an asset/
Fulfilment value of a liability

Net selling price/Net realisable value

Onerousness of a contract

NSNS XXX
NSNS XXXKKX
NSNS XXX«

Other measurements (O)...



Mixed measurement model
source of measurement bases indicated: IFRS

Assets ______IFRS measure IFRS measure

Unimpaired land (PPE) &  Historical cost (HC) or fair value (FV) (choice) Residual What does it mean?
indefinite life |ntang|bles (assets minus liabilities)
Other PPE, intangibles and Modified (M)HC or modified FV (choice) Liabilities IFRS measure
bearer plants
Investment property MHC or FV (choice) Bank loan Amortised cost (AC)
Biological assets FV less costs to sell (except bearer plants) Trade payable AC
Investments in associates ~ Equity method Derivatives and others FV
when FV option is used
Other financial instruments MHC or FV (depends on cash flow Provisions Amount to settle or
characteristics and business model) transfer today
Inventories Lower of HC and net realisable value; Defined benefit employee Projected unit credit
exceptions FV and NRV benefits method

TOTAL What does it mean? TOTAL What does it mean?






n1Storical Cost "concept - an asset

sources: paragraph ?.13 of IPSASB (Conceptual
Framework and

b U.55(a) of IASB Conceptual Framework

» The historical cost of an asset is the consideration given to
acquire or to develop It:
» the amount of cash or cash equivalents paid; or

» the fair value of the consideration given to acquire it at the time of its
development or acquisition.

»Historical cost includes transactions costs incurred to acquire
the asset.



n1Storical Cost "concept -« a 1li1abllitcty
sources: paragraphs ?.70 and 7.71 of IPSAS
Conceptual Framework and paragraphs k-8 and
ASB_ED/201L5/3

» The historical cost of a liability is:

» the value of the consideration received to assume it (consideration
received); less

» transactions costs incurred.

» The amount initially recognised may subsequently be adjusted
for:

» flnance costs: the accrual of interest and the accretion of a discount or
premium

» the fulfilment or settlement of the liability
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Nn1Storlical CosSt convencions

sources: IAS 2. IAS 1lk. IAS 23 and IAS 38 and
Sections 13- 17+ 25 and 18 of the IFRS for

EsS

» Historical cost includes all costs directly attributable to bringing an
asset to the location and condition necessary for it to be capable of
operating as intended by management, including:

» transactions costs, non-refundable purchase taxes and professional fees

» costs of converting raw material into finished goods (including an allocation of
fixed production overheads)

» qualifying borrowing costs (IFRS only; IFRS for SMEs expense)
» obligations incurred for dismantling, removing and restoring the site
» cost formula (FIFO or weighted-average) for similar items

» If payment is deferred beyond normal credit terms the interest is
computed and cost is net of that interest.
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Historical cost of an asset
test your understanding

Example 1.

Today you exchange:

» $1,100,000 (including $200,000 refundable purchase taxes collected
from you by the dealer on behalf of the government) for a new delivery
vehicle

» $70,000 cash for modifications to be made to the vehicle to enable it to
transport more safely the volatile chemicals that you manufacture

» $10,000 cash for your branding to be embossed on the vehicle

» $20,000 for mandatory environmental safety inspection and
certification of the modified delivery vehicle for the transport of
hazardous chemicals

» $2,000 for diesel to fuel initial running of the venhicle
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Historical cost of an asset
test your understanding

What is the historical cost of the delivery vehicle?
Choose 1 of:

1) $900,000; 2) $902,000; 3) $910,000; 4) $912,000:

5) $920,000: 6) $930,000; 7) $990,000; 8) $992,000:

9) $1,000,000: 10) $1,002,000; 11) $1,100,000; 12) $1,200,000:
or 13) $1,202,000.
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Historical cost of an asset (inventory)
allocating fixed production overheads

Example 2:
Fixed production overheads = $1,000,000

Normal capacity = 250,000 units.

Example 2A: 250,000 units produced

» Allocation rate: $1,000,000 + 250,000 units normal capacity =
$4 per unit produced.

» Allocate to inventories asset; $4 x 250,000 units = $1,000,000.
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Historical cost of an asset (inventory)
allocating fixed production overheads

Example 2B: 200,000 units produced
» Allocation rate: $1,000,000 + 250,000 units normal capacity = $4 per unit.
» Allocate to inventories asset: $4 x 200,000 units = $800,000.

» Recognise as an expense $200,000 (ie $1,000,000 overheads less
$800,000 allocated to inventories asset).

Example 2C: 300,000 units produced

» Allocation rate: $1,000,000 + 300,000 units actually produced = $3.33’ per
unit.

» Allocate to inventories asset: $3.33’ x 300,000 units = $1,000,000.
Why is allocation on the basis of actual production in Example 2C?
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Historical cost of an asset (inventory)
allocating production costs to joint products

and by-products

Example 3: A chemical manufacturer incurs production process
costs $2,000,000 (including allocated overheads) to produce:

» Example 3A (by-product):
» 100,000 litres of Product (sales value = $4,000,000); and

» 1,000,000 litres of By-product (sales value = $10,000).

What is the cost per litre of Product produced? Choose 1 of:
1) $20 (ie $2,000,000 + 100,000 litres)
2) $19.9 (ie ($2,000,000 - $10,000) + 100,000 litres)
3) $19.95 (ie $2,000,000 x $4,000,000/$4,010,000) + 100,000 litres)
4) $1.82 (ie $2,000,000 x 100,000/1,100,000 litres) + 100,000 litres)
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Historical cost of an asset (inventory)
allocating production costs to joint products

and by-products

» Example 3B (joint product):
» 100,000 litres of Product A (sales value = $4,000,000); and

» 1,000,000 litres of Product B (sales value = $1,000,000).

What is the cost per litre of Product A produced? Choose 1 of:
1) $20 (ie $2,000,000 + 100,000 litres)
2) $10 (ie ($2,000,000 - $1,000,000) + 100,000 litres)
3) $16 (ie $2,000,000 x $4,000,000/$5,000,000) + 100,000 litres)
4) $1.82 (ie $2,000,000 x 100,000/1,100,000 litres) + 100,000 litres)

17



Historical cost of an asset
test your understanding of variable
consideration

Example 4.

A computer retailer buys computers at a list price of $1,000 per
unit.

»0On 1 July 2015, in a special promotion, the supplier promises a
volume rebate of $100 on every computer purchased over the
ensuing 12 months provided that during the next 12 months you
purchase more than 100,000 computers from the supplier.

»When preparing your 31 December 2015 financial statements
you observe that you have purchased 60,000 computers from
the supplier since 1 July 2015 of which 1,000 are unsold.
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Historical cost of an asset
test your understanding of variable
consideration

Example 4A:

On the basis of historical sales patterns, consistently with sales
forecasts you estimate that there is a 99.9% probability that you
will satisfy the threshold to qualify for the volume rebate.

What is the historical cost of each of the computers in your
iInventory? Choose 1 of:

1) $1,000 (list price actually paid in 2015); or
2) $900 ($1,000 less virtually certain $100 discount).
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Historical cost of an asset
test your understanding of variable
consideration

Example 4B:

On the basis of historical sales patterns that are consistent with
the current economic environment and sales forecasts you
estimate that there is a 75% probability that you will satisfy the
threshold to qualify for the volume rebate.

What is the historical cost of each of the computers in your
iInventory? Choose 1 of:

1) $1,000 (list price actually paid in 2015);
2) $925 ($1,000 less 75% chance of $100 discount); or
3) $900 ($1,000 less probable $100 discount).
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Historical cost of an asset
test your understanding of variable
consideration

Example 4C:

On the basis of historical sales patterns adjusted for the
deteriorating the economic environment, consistently with sales
forecasts you estimate that there is a 25% probability that you will
satisfy the threshold to qualify for the volume rebate.

What is the historical cost of each of the computers in your
iInventory? Choose 1 of:

1) $1,000 (list price actually paid in 2015);
2) $975 ($1,000 less 25% chance of $100 discount); or
3) $900 ($1,000 less $100 potential discount).
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n1sStorical Cost OT an assetc

test your understanding
(if needed. assume a discount rate of 10% per

Example 5A:

On 1 July 2013 you exchange (pay) $100,000 for a passenger
motor vehicle which you receive on 1 July 2013.

What Is the historical cost of the passenger motor vehicle?
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n1Sctorical Ccost oOor an asset
test your understanding
(if needed. assume a discount rate of 10% per

Example 5B:

On 1 July 2013 you exchange goods that you manufactured at a
cost of $80,000 for a passenger motor vehicle which you receive
on 1 July 2013. Had you paid cash for the vehicle you would
have paid $100,000.

What Is the historical cost of the passenger motor vehicle?
Choose 1 of: 1) $80,000; or 2) $100,000.
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n1Sctorical Ccost oOor an asset
test your understanding
(if needed. assume a discount rate of 10% per

Example 5C:

»0On 1 July 2013 you exchange a promise to pay $121,000 on 30
June 2015 for a passenger motor vehicle which you receive on
1 July 2013

»0n 30 June 2015 you pay $121,000 to settle the claim against
yOul.

What is the historical cost of the passenger motor vehicle?
Choose 1 of: 1) $100,000; or 2) $121,000.
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n1Sctorical Ccost oOor an asset
test your understanding
(if needed. assume a discount rate of 10% per

Example 5D:

»0On 1 July 2013 you exchange (pay) $100,000 for a promise to
receive a motor vehicle on 30 June 2015 (ie 2 years later).

»On 30 June 2015 you exchange the promise to receive the
motor vehicle for the motor vehicle when the fair value of the
motor vehicle is $150,000.

What is the historical cost of the motor vehicle?
Choose one of: 1) $100,000; 2) $121,000; or 3) $150,000.
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n1Sctorical Ccost oOor an asset
test your understanding
(if needed. assume a discount rate of 10% per

Example 5E:

»On 1 July 2013 you exchange chemicals you manufactured at a
historical cost of $80,000 (with a market value/fair value = $100,000)
for a promise to receive a motor vehicle on 30 June 2015 (ie 2 years
later).

»0On 30 June 2015 you exchange the promise to receive the motor
vehicle for the motor vehicle when the fair value of the motor vehicle
Is $150,000.

What is the historical cost of the motor vehicle?

Choose one of: 1) $80,000; 2) $96,800; 3) $100,000; 4) $121,000; or
5) $150,000.
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What the IASB says about historical cost

source: paragraphs b-13 to k.18 of IASB
ED/2015/3

» Can have predictive and confirmatory value

» Information about past sales, past costs and past margins can be used as one input
for predicting future sales, future costs and future margins and provide feedback
about previous estimates of margins. However, current cost may sometimes have
greater predictive value.

» Simpler and less expensive than alternatives. However, difficult to
determine when there is no observable transaction price.

» Generally well understood and, in many cases, verifiable. However,
similar assets and liabilities can be reported at very different amounts.

» With the passage of time, cost-based measurements become increasingly
Irrelevant. (paragraph BC33(b) of the Basis for Conclusions on IAS 40
Investment Property).
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What the IPSASB says about historical cost
source: paragraphs 7.1k to ?.21 of IPSASB
Conceptual Framework

» After impairment testing historical cost information shows that the
resources available for future services are at least as great as the
amount at which they are stated

» Historical cost can provide information about assets that may be
used as effective security for borrowings

» Readily available (low cost) but can involve sometimes arbitrary
allocations

» IS verifiable, understandable and can be prepared on a timely basis
» Does not reflect the impact of price changes
» IS not comparable unless has the same or similar acquisition dates
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I'ne COST modaei- an asset

sources: paragraphs ?.14 and 7?.15 of IPSAS
Conceptual Framework and paragraphs bk-b and
LASB _ED/2015/3

»After initial measurement the historical cost of an asset
may be modified to reflect, when relevant:

»the consumption of its service potential (called depreciation
or, if an intangible asset, amortisation); and

»that part of the historical cost of the asset is no longer
recoverable because of impairment due to, for example
» deterioration of the asset quality; or
» a decline In its economic value.
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Cost model
example

»1 January 2011 you buy a machine
» cost = $1 million
» useful life = 10 years
» depreciation method = straight-line
» nil residual value

» 31 December 2014 the recoverable amount = $300,000

»31 December 2016 the recoverable amount of the machine =
$800,000

31



Cost model
example

1,000,000

- 600,000
300,000 400,000
profit or = 200,000
loss profit or
300,00 loss
- O\ 200,000
4 years 6 years 10

years
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Depreciation
the concept

» Depreciation/amortisation expense represents the consumption of
the economic resource that constitutes the asset

» put another way, depreciation represents the consumption of the asset’s
service potential

» Information about an entity’s financial performance in a period,
reflected by changes in economic resources (eg a manufacturing
plant asset) is useful in assessing the entity’s past and future ability
to generate net cash inflows (paragraph OB18 of the IASB
Conceptual Framework)

»expenses are decreases in economic benefits during an accounting
period in the form of depletions of assets... (paragraph 4.25 of the
IASB Conceptual Framework)



Depreciation
test your understanding of the concept

When is land depreciated? Choose one of:

1)
2)
3)
4)
o)

6)

never—its service potential does not reduce with time/use
always—its service potential always reduces with time/use

when its recoverable amount declines below its unmodified historical
cost (for example, when market prices decline)

when its service potential is consumed through use (for example,
when used as a landfill site)

when its service potential is consumed with time (for example, a 99
year right to use the land)

both 4) and 5) above
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Estimates and other judgements
depreciation

» Allocating depreciation requires judgement to
» determine the appropriate depreciation method
» Identify components of an item that must be depreciated separately
» estimate the useful life of an item
» measure the residual value of an item

» Note

» depreciation judgements apply equally to the cost model and the
revaluation model

» measuring residual value is akin to measuring the fair value of an older
item
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Depreciation
the principle and selected application
guidance

» The principle: depreciation is the systematic allocation of the
depreciable amount of an asset over its useful life

» Application guidance:

» The depreciation method must closely reflect the pattern in which the
asset’s future economic benefits are expected to be consumed by the
entity.

» Significant parts (called components) of a depreciable item with
materially different consumption patterns must be depreciated
separately to more faithfully represent the consumption of the asset’s
service potential. (see, for example, paragraph BC26 of the Basis for
Conclusions on IAS16)
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Depreciation
application guidance

» Depreciable amount =
» |f cost model: historical cost less residual value
» If revaluation model: fair value less residual value

» Residual value = the amount that the entity would currently obtain
from disposal of the asset (less estimated disposal costs) if the asset
was already of the age and in the condition expected at the end of its
useful life

» Useful life (entity specific) = either

» the period over which the asset is expected to be available for use by the
entity; or

» the number of production or similar units expected to be obtained from the
asset by the entity.
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Depreciation of a furnace
test your understanding of depreciation
judgements

» A furnace used to fire a porcelain manufacturer’s crockery cost
$100 million:
» $60 million for the ‘permanent’ basic structure
» $20 million for the electronics (replace after 6 years)
» $19.8 million for the protective lining (replace every 3 years)
» $0.2 million health and safety certification (required every 2 years)

»Management expect to continuously use the furnace for its
entire 12-year economic life.
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Depreciation of a furnace
test your understanding of depreciation
judgements

Must any components of the furnace be depreciated separately?
Choose one of:
1) No, depreciate the furnace as a whole evenly over 12 years
2) Yes, 4 components—(i) basic structure; (ii) electronics; (iii) lining; and
(iv) health and safety inspection
3) Yes, 3 components—(i) basic structure; (ii) electronics; and (ii) lining
(ile health and safety inspection component need not be depreciated
separately)

4) Yes, 2 components—(i) basic structure; and (i) combined electronics
and lining component (ie health and safety inspection component
need not be depreciated separately)
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Depreciation of executive jets
test your understanding of depreciation
judgements

A business buys 2 identical executive jets:

»Jetl is used to provide executive air travel services to discerning
clients. Management expect to sell Jetl after it has travelled
2,000,000 air-miles.

» Jet2 is for the exclusive use of the airline’s Directors and Executive
Management. As part of their remuneration package they each have
the exclusive use of the jet for 30 days per year. The airline expects
to:

» replace Jet2 three years after acquiring it (irrespective of the distance Jet2
has travelled)

» donate Jet2 to an international disaster relief programme when it is three
years old.
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Depreciation of executive jets
test your understanding of depreciation

judgements

Which depreciation method must be used for the jets?
Choose one of:

1)
2)
3)
4)

o)

6)

straight-line method for both jets
units of production method (based on air-miles travelled) for both jets
revenue-based depreciation for both jets

straight-line for Jetl and units of production (based on air-miles
travelled) for Jet2

straight-line for Jet2 and units of production (based on air-miles
travelled) for Jetl

management is free to choose a depreciation method
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Depreciation of executive jets
test your understanding of depreciation
judgements

The useful life of each jet is? Choose one of:
1) Jetl and Jet2 = three years
2) Jetl and Jet2 = 2,000,000 air-miles
3) Jetl 2,000,000 air-miles and Jet2 three years
4) Jetl three years and Jet2 2,000,000 air-miles

The residual value of Jet2 is? Choose one of:
1) nil

2) the amount that the airline could sell Jet2 for today (the measurement date)
If Jet2 was already three years old and in the condition that the airline
expects it to be in after using it for three years.

3) another amount
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Depreciation of coffee plantations
test your understanding of depreciation
judgements

With effect from 1 January 2016 coffee farmers’ applying IFRS
must depreciate their growing coffee plants.

Which method of depreciation best reflects how a coffee farmer
expects to consume the service potential of its growing coffee
plants? Choose one of:

1) the straight-line method

2) the double-declining-balance method

3) the units-of-production method on the basis of total expected fruit to
be produced by the coffee plant over its useful life

4) another method (specify)
5) management is free to choose whatever depreciation method it likes
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Depreciation of coffee plantations
test your understanding of depreciation

judgements

When should a coffee grower begin depreciating a growing
coffee plant (sometimes referred to as the ‘point of maturity’)?

Choose one of:
1) when the oll palm is planted
2) when the first fruit is harvested (say 2 years after planting)
3) when the first fruit yield of commercial value is harvested
4) when the first fruit yield of maximum yield is harvested (say 7 years
after planting)
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Depreciation of coffee plantations
test your understanding of depreciation
judgements

If you were auditing or regulating a coffee grower, what questions
would you ask management to enable you to better assess its
depreciation judgements and estimates for the year ending 31
December 20167
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The fair value model
(a separate session this
afternoon)



Fair value of an asset
the concept

» The fair value of an asset is:
» the price that would be received to sell an asset (exit price)
» In an orderly transaction (not a forced sale)
» between market participants (market-based view)
» at the measurement date (current price) (see IFRS 13 Fair Value Measurement)

» The fair value of an asset iIs:

» the amount for which the asset could be exchanged between knowledgeable, willing
parties in an arm’s length transaction (The Glossary of Terms in the IFRS for SMES)

» for application guidance see paragraphs 11.27 to 11.32

» Market participant perspective: consequently, the entity’s intention to hold
an asset is not relevant when measuring fair value.
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Fair value model
relating the concept of fair value to the

objective of financial reporting

» Information about an entity’s financial performance in a period,
reflected by changes in economic resources is useful in
assessing the entity’s past and future ability to generate net
cash inflows (see paragraph OB18 of the IASB Conceptual

Framework)
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Cost model and fair value model: investment

property
reporting performance

2011 to 2040 (consumed entirely

Cost model

Fair value model

through earning rental income)

accounting policy
IAS 40 Investment Property choice (but must
disclose fair value)

if undue cost or

Section 16 of the IFRS for SMEs .
effort applies

accounting policy
choice

undue cost or effort
does not apply

Fair value changes property

Rental income 25,000,000
Depreciation (10,000,000)
Profit or loss 15,000,000

10,000,000
(20,000,000)

25,000,000

15,000,000




Cost model and fair value model: investment
property
reporting performance

First half of the useful

life of the building (2011 Cost model Fair value model

to 2020)

Fair value changes property 15,000,000
(5,000,000)

Rent income 5,000,000 5,000,000

Depreciation (5,000,000)
Profit or loss - 15,000,000
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Cost model and fair value model: investment
property
reporting performance

Second half of the useful life of Cost model ST SO
the building (2021 to 2040)

Fair value changes building (20,000,000)
Rental income 20,000,000 20,000,000
Depreciation (5,000,000)

Profit or loss 15,000,000 -
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IFRS for SMEs
undue cost or effort exemptions

» Investment property whose fair value cannot be determined reliably on an
ongoing basis without undue cost or effort is exempt from fair value
measurement and must instead be carried using the cost model (ie
historical cost less depreciation less impairment).

» Mixed use property must be separated between investment property and
PPE. However, if the fair value of the investment property component
cannot be measured reliably without undue cost or effort, the entire
property is accounted for as PPE (using the cost model).

» The property-by-property option to include in ‘Investment property carried
at fair value’, operating leasehold property interests that otherwise satisfy
the definition of investment property, is subject to the fair value of the
leasehold interest being reliably measured without undue cost or effort.
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Investment property: IFRS for SMEs undue cost
or effort assessment: what do you think?

» Entity A's main assets are ten investment properties: freestanding residential homes in a single
development of over 1,000 near identical homes.

» Each year about twenty to thirty of the homes in the development are sold. The prices at which
land and buildings are sold is publicly available information from a free-to-access website
maintained by the government.

» About half of the homes are investment property rented to third party tenants. Although rentals are
not publicly available, the rentals being asked are published when homes are advertised for rental.

» Entity A is wholly owned by Ms A. Entity A is funded 80% by bank loans and tenant deposits.

» Tenants must pay a deposit equal to twelve months rent before occupying a property. Tenant
deposits are refundable at the end of the lease term provided that the property is ‘returned’ to Entity
A in the specified condition.

» Entity A's annual financial statements, prepared in accordance with the IFRS for SMEs, are free to
download from Country A's central repository with which all private companies are required to file
their annual financial statements.
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Investment property: IFRS for SMEs undue cost
or effort assessment: what do you think?

Does measuring Entity A's investment property using the fair
value model involve undue cost or effort? Choose one of:

1) Yes;
2) No; or
3) It depends (specify what it depends on).
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Investment property: IFRS for SMEs undue cost
or effort assessment: what do you think?

» Entity B's main assets are its ten investment properties. Its properties are in various
towns in a country suffering a devastating civil war with significant bombings by a
number of foreign forces. Over 10 per cent of the country’s population is killed and more
than 20 per cent of its population have fled its borders to seek asylum.

» Although, using satellite technology, Entity B could verify whether its properties have been
destroyed, it is unable to determine whether the tenants continue to occupy the homes.
There is no evidence of any willing buyers for Entity B’s investment properties and there is

no evidence of arm’s length transactions in the country’s property market since the civil
war started three years ago.

» Mr B owns 55% of the equity of Entity B. The remaining equity is held by 1,000 individual
investors that contributed capital to the entity through Entity B's crowd funding campaign
some years before the outbreak of civil war. Entity A is funded 80 per cent by bank loans.

» Does measuring Entity B’s investment property using the fair value model involve undue
cost or effort? Choose one of:

1) Yes; 2) No; or 3) It depends (specify what it depends on)
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Estimates and other judgements
fair value

»Measuring fair value in the absence of an active market
requires judgement

» making adjustments from recent transaction prices for similar or
identical items

» determining the appropriate valuation model and the relevant inputs to
that model

» Note

» measuring residual value is akin to measuring the fair value of an older
item

» fair value measurement is the topic for the first workshop by video
conference
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The revaluation model
reflecting the economics

» Information about an entity’s financial performance in a period,
reflected by changes in economic resources and claims other than
by obtaining resources from (distributing resources to) owners, Is
useful in assessing the entity’s ability to generate net cash inflows
(see paragraphs OB18 and OB19 of the Conceptual Framework)

» In presenting the changes in an economic resource (for example, an
item of PPE) in the period the revaluation model separates:

»the consumption of the assets service potential (measured at
current market value); from

»the effect of price changes of the item in the period.
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The revaluation model
the requirements

» Accounting policy by class of PPE: cost model or revaluation model

» however, the revaluation model is available only for items whose fair value
can be measured reliably

» Carrying amount of revalued PPE at the end of a reporting period
cannot differ materially from its fair value

» Revaluation increases and decreases presented in OCI

» nevertheless, impairments and reversals of impairments are presented In
profit or loss

» no ‘recycling’ from OCI to profit or loss

» Disclosures specified
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Revaluation model
example

» 1 January 2011 you buy a machine
» historical cost = $1 million
» useful life = 10 years
» depreciation method = straight-line
» nil residual value

» 31 December 2012 revalue machine to $1.2 million (fair value)

» 31 December 2014 the recoverable amount (fair value less costs to sell) =
$300,000

» 31 December 2016 revalue machine to $800,000 (fair value)

» The entity transfers the realised portion of the revaluation surplus reserve
to retained earnings in the period of its realisation (through for example,
depreciation, impairment or derecognition)



Revaluation model
example

1,000,000

4

\%
\
300000 06l

1,200,

00,000 —

000

900,000

—

300,000

600.00¢

300,000
profit or —
loss

300,000

400,000 |
)w

200,000
profit or |
loss

800,000

400,0

= 200,000

2 years

4 years

6 years

10 years .



Cost model and revaluation model
reporting performance

2011 to 2020 Revaluation model

Profit or loss (1,000,000) (1,500,000)
- depreciation (900,000) (1,400,000)
- impairment (300,000) (300,000)
- impairment reversal 200,000 200,000
Other comprehensive income 500,000
- revaluation 800,000
- revaluation decease (300,000)

Comprehensive income (1,000,000) (1,000,000)



Cost model and revaluation model
reporting performance

Assume the entity sold the machine on 31/12/2013 for $1,050,000.

2011 to 2013 Revaluation model

Profit or loss 50,000 (350,000)
- depreciation 2011 to 2013 (300,000) (350,000)
- profit on sale of PPE in 2013 350,000

Other comprehensive income 400,000
- revaluation in 2012 400,000

Comprehensive income 50,000 50,000
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Cost model and revaluation model
what do you think? management incentives

Might management incentives influence the accounting
policy choice?
»Which model gives management more flexibility in reporting

profit or loss for the period?

1) cost model; or
2) revaluation model

»Which model reports greatest profit over the life of the asset?

1) fair value or cost model
2) revaluation model or cost model
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Amortised cost: a financial asset
example: bank deposit

Example 1.
On 01/012015 Entity deposits $1,000,000 in a commercial bank.

Example 1A:

The bank promises to pay the entity $1,210,000 on 01/01/2017
(in other words, effective interest rate (IRR) = 10%).

At 31/12/2015 what is the amortised cost of bank deposit asset?
Choose 1 of: 1) $1,000,000; 2) $1,100,000; or 3) $1,210,000.
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Amortised cost: a financial asset
Example 1A journal entries example bank

deposit

_ Account (element: classification) m

01/01/2015

31/12/2015
10% x $1,000,000

31/12/2016
10% x $1,100,000

01/01/2017

$1,000,000 + $100,000 +
$110,000

Asset: bank fixed deposit 1,000,000
Asset: cash 1,000,000
Asset: bank fixed deposit 100,000
Income: interest 100,000
Asset: bank fixed deposit 110,000
Income: interest 110,000
Asset: cash 1,210,000

Asset: bank fixed deposit 1,210,000



Amortised cost: a financial asset
example: bank deposit

Example 1.
On 01/01/2015 Entity deposits $1,000,000 in a commercial bank.

Example 1B:
The bank promises to pay (and pays) the entity (IRR = 10%):
»$100,000 on each of 31/12/2015 and 31/12/2016

»$1,000,000 on 01/01/2017
At 31/12/2015 what is the amortised cost of bank deposit asset?

Choose 1 of: 1) $1,000,000; 2) $1,100,000; or 3) $1,210,000.
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Amortised cost: a financial asset
Example 1B journal entries example bank

deposit

Date | Account (element: classification) | Debit | Credit _
01/01/2015 Asset: bank fixed deposit 1,000,000

Asset: cash 1,000,000

31/12/2015 Asset: cash 100,000
10% x $1,000,000 Income: interest 100,000
31/12/2016 Asset: cash 100,000
10% x $1,100,000 Income: interest 100,000
01/01/2017 Asset: cash 1,000,000
$1,000,000 + $100,000 + Asset: bank fixed deposit 1,000,000

$110,000

oY



Amortised cost: financial asset
example: corporate bond

Example 2:

On 01/01/2008 Entity pays $1,000,000 to buy a 10-year
corporate bond requiring the corporation to pay the holder of the

bond (ie the Entity):
»$50,000 on 31 December each year 2008 to 2017

»$1,000,000 on 1 January 2018
(in other words, the bond'’s original effective interest rate = 5%).
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Amortised cost: financial asset
example: corporate bond

At 31/12/2015 the fair value of the bond is $913,223 (the future
cash inflows are all expected to be received by the entity)

What is the amortised cost of bond asset at 31/12/2015?
Choose one of: 1) $1,000,000; or 2) $913,223.
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Accounting policies
the principles

» Accounting policies are specific principles, bases, conventions, rules
and practices applied by an entity in preparing and presenting
financial statements (paragraph 5 of IAS 8).

» Accounting policies are designed to provide information capable of
making a difference in the decisions made by users (ie relevant) that
can be faithfully represented—complete, neutral and free from
error—etc (see paragraphs 8 and 10 of IAS 8)

» An entity can change voluntarily an accounting policy only if the new
policy results in more relevant information (paragraph 14(b) of IAS 8)

» “it is highly unlikely that a change from the fair value model to the cost model
will result in a more relevant presentation” (paragraph 31 of IAS 40)




Investment decision
example: cost model

» At 31/12/2015 you are considering investing in the car manufacturing
sector in BigBoomingland.

» Companies A and B have identical car manufacturing plants in
BigBoomingland. However:

» Company A constructed its factory immediately before a massive demand
shock event that, due to prohibitively costly import tariffs, cannot be satisfied
with imported cars

» Company B constructed its factory immediately after the massive demand
shock event.

» Companies A and B both use the cost model of accounting for their
car manufacturing plants.
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Investment decision
example: cost model

Company A____ Company B

Cost of factory completed on 01/12/2014 S1,000,000,000

Cost of factory completed on 31/12/2014 S2,000,000,000
Fair value of factory at 31/12/2014 $2,000,000,000 $2,000,000,000
Commercial production starts 01/01/2015

Cost of each car manufactured in 2015 (520,000) ($30,000)
- including allocated depreciation of plant (510,000) (520,000)
Selling price of each car sold in 2015 $25,000 $25,000

Gross profit/(loss) per car sold in 2015 $5,000 ($5,000)

75



Investment decision
example: cost model

»Which car manufacturer would you rather invest (buy shares)
IN? Choose one of:
1) Company A
2) Company B
3) Indifferent between Companies A and B

»What adjustments, if any, did you make in comparing the
companies’ reported numbers?

» Do current reporting requirements require provision of the
information (eg disclosures) that would enable you to make the
necessary adjustments?
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Investment decision
example: revaluation model

Assume Companies A and B both use Company A Company B
the revaluation model

Cost of factory completed on 01/12/2014 S1,000,000,000

Cost of factory completed on 31/12/2014 $2,000,000,000
Fair value of factory at 31/12/2014 $2,000,000,000 $2,000,000,000
Commercial production starts 01/01/2015

Cost of each car manufactured in 2015 ($30,000) ($30,000)
- including allocated depreciation of plant (520,000) (520,000)
Selling price of each car sold in 2015 $25,000 $25,000

Gross profit/(loss) per car sold in 2015 ($5,000) ($5,000)



Accounting policies
relevant information that can be faithfully
represented

What do you think?

»Which measurement basis provides the most relevant
Information that can be faithfully represented about a car
manufacturer’s plant? Choose 1 of:

1) Historical cost (no depreciation; no impairment);

2) Cost model (historical cost-depreciation-impairment);

3) Fair value model;

4) Revaluation model (fair value-depreciation-impairment); or
5) Entity specific current value measure (value in use).
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Accounting policies: a question of relevance
What do you think?

» Can an entity voluntarily change its accounting policy for buildings
classified as PPE from the cost model to the revaluation model? (Choose

one of):
1) Yes
2) Probably can, highly likely to provide more relevant information
3) Probably not, highly unlikely to provide more relevant information
4) No
» In future, could that entity revert to the cost model for buildings classified
as PPE? (Choose one of):

1) Yes
2) Probably can, highly likely to provide more relevant information
3) Probably not, highly unlikely to provide more relevant information

4) No



Accounting policies
relevant information that can be faithfully
represented

What do you think?

»Which measurement basis provides the most relevant
information that can be faithfully represented about an entity’s
iInvestment property? Choose 1 of:

1) Historical cost (no depreciation; no impairment);

2) Cost model (historical cost-depreciation-impairment);

3) Fair value model;

4) Revaluation model (fair value-depreciation-impairment); or
5) Entity specific current value measure (value in use).
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Accounting policies
relevant information that can be faithfully
represented

What do you think?

»Which measurement basis provides the most relevant
Information that can be faithfully represented about a fruit
farmer’s fruit-bearing trees? Choose 1 of:

1) Historical cost (no depreciation; no impairment);

2) Cost model (historical cost-depreciation-impairment);

3) Fair value model;

4) Revaluation model (fair value-depreciation-impairment); or
5) Entity specific current value measure (value in use).
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